BAEMJIFAU-18Y v 11— —52025

=ER3FAU-T B

BASHIFAU-18Y v H—1J—T2025

2025/7/9

=ER3FBU-T B

& 28 b5 TN — B =5
14:20 |1 nen -2 EAE®2nd 23R
10:00 |2 HIRTM ~| 1| =ALSERSd FAPRT 2
15| 4/12 1640 | 3| mBHPRIMSd |- |1© $E2nd =58
12:00 |+ REIM -|e PRI PEFVD
12:30 (s -3 -|8 HRA BE
10:00 |s 2IM3rd -7 E= 4 =5
14:20 |+ REm — 11| FRUSERS PRI
14:20 [12| EAE™2nd ~ | $E2nd =5
2w | 4/19 1000 | 2 HWIRTH -l PRI PRI
1210 | 2| mBH+HRTHESd | - | 8 HREK RIBEM
10100 |« RETR -7 =L 23K
1330 (s B -|e BT%3rd BT
14:30 |+ Ram - |0 $#2nd #RIC
1650 | 11| sRwSHE3d |-|° pBIR ABRIEES
31| 4/26 1210 [12| EAE®2nd -8 HREK RIBEM
1000 | 2 WIRTH -7 =L 23K
1000 | 2| mBmHRTHESd | - |6 BT%3rd #RIIC
121156 |« RETR -5 ® #xitB
1210 |+ PRTR =||® RE2A RIBEM
5/25 14:20 (10 #E2nd HE HREK BT
A 1310 | 11| SRwSHE3d |- |7 2% BREIE
1000 (12| EAE®2nd =||® 2T%3rd BT
7/18 16:00 | 2 HWIRTH e = PEFVD
5/25 1210 | 2| mBHHRTHESd | - | 4 RETR JilE
12115 |1 REH -l HRE #RIC
1830 | @ PRIR -7 8% HABRHES
58| 5/31 10:00 |1 #E2nd -8 RI#3rd #FitB
930 || THUBER3d |[-|S & HABRHES
14:30 [12| EA®H2nd -4 RETH #FitB
15660 |2 HIRT —| 3| mBEHPRIHSd FBFVD
10:30 | ¢ REHE =||7 2% 23k
£ KRA -6 $T#3rd — RRADFEFHICLN0-8
om| 6/7 1330 | e PRIR -|s = PRITHE
16110 |1 #E2nd ~|4 RETR RBEM
1610 (11| = d [-|3 T 3rd =858
1830 |[12| EA®E2nd =||z HMIRT# BRI
1330 | ¢ ®RIR3rd -8 RER BRI
1330 |7 &5 -ls ® AN
75 6/14 12110 (= RR&K -4 RETH RBEM
1000 | e PRIR - | 3| wBmhRIHSd rHch T
14:00 |1 #hE2nd -2 HIRT# BPBFVC
1000 || sRLBERIrd |- |12| EABE2nd PBFVC
12110 |+ REE -|s = =
1830 | s RIR3rd ~|4 RETH BRI
s |6/28 1000 |7 8% —| 3| mBmPRI#Sd B3k
1830 | & RRA =||2 HIRT# AR T3
1830 | @ PRTR —|12| EA®®2nd PRI
12110 |10 #hmE2nd —| 11| FHUBERId =88
7/5 16:00 |1 RETR -4 RED #RIC
7/12 930 |s -3 —| 3| mBAmhRI#3rd PEFVA
om| 7/5 1830 | s ®RIR3rd -2 HIRT# BRI
1000 |7 8% - |12| EXEE2nd B3k
7/12 | 930 |=& RRA — 11| FRUBERId PBFVB
7/5 14:20 | o PBTR ~119 $$E2nd 23k
1330 | ' | mAmHRT#3rd | |3 REHA 287
=i 12110 |+ RETR =2 HIRT# =
16 9/7 | 1530 |s -3 - |12| EAm®2nd fRitbA
9/7 | 1230 | s BRI%3rd — 11| TBweERId B2
9/6 | 1610 |7 &% - |10 $82nd ZRBIE
9/7 | 11:30 | & RRA = PRIR fRitbA
16:30 |+ BER -2 HIRT# HABRAES
1330 | 3| mE®hRI#3rd | - |12| EABE2nd fFitB
118 9/13 14:00 |« REIR — 11| TRLEE#Id PBFVD
11:30 |5 = ~|19) #582nd HABRAES
1830 | s ®IR3rd ~|e PRI BRI
1030 |7 &% SE RRA Bk

& 288 857 XN — R =)
12:10 |+ ZEmik — |2 [ol=Lr) 23k
1330 |2 =@3rd — | B =88
15| 4/12 14:00 |z BE — |10 g PEFVD
12110 |+ -1z} ~le =] BRI %
1000 |5| mEHIX3d |-|8 B ] PEFVD
10:00 | s B -7 BE3rd B2
10:00 | ¢ RIEM - B RBEM
14:30 |12 MBS —[10 g #xitbC
om | 4/19 12110 | 2 =®3rd —|e i PRI
1420 |3 By =||® RE*E RBEM
1540 |+ b=i::] =7 EE3rd BT
1210 [5| mEHIX3d |-|6 BEME 23k
10:00 |+ RERH — |10 i RIBEM
1340 | B -le s MIRBS
a1 | 4/26 12115 |12 B & -8 ] #xitbC
14:30 | 2 =®E3rd -7 BE3rd 1B
12110 |2 BE -|e BEME 23k
10:00 |+ b=t} -|5| mBHIX3d 1B
10:00 | ¢ i —|9 B RIBEM
10:00 |10 i -|8 ] JIlE
48| 5/25 1400 | B =7 EE3rd B2
11:00 |12 e —-|e BEWE ZiRBIE
13:30 | 2 =®3rd —|5| mBHEIESd fxitbA
12110 |2 BE -4 b=i::] BT
15:30 | ¢ 2EmH SE REFE HABRIES
14:30 | o s -7 BE3rd #FitC
s |5/31 10:00 |1 i -|e BEME #FitC
13860 | BWIR -|5| mBBIHK3rd PBFVD
12115 |12 [2[SLa:i] -4 i} #FitiB
11:30 |2 =®3rd SE 11 HABRHES
1300 | ¢ ZEMH =7 BE3rd RBEM
12:40 | = REFE ~|e M Bk
om| 6/7 1540 | ° =3 —|5| mBEEIX3d PRI
15140 | 10| N |4 1] BRI
1540 |1 WK E " HABRT %
13:00 |12 WEHE =||2 =®3rd =88
10:00 | 2EmH -6 S QB
12:00 |7 BE3rd -|5| mBwIX3d rHch T
75| 6/14 1540 |= REFE —|4 1] BRI
1530 | o g HE RE XN\
12:00 |1 i -2 =m3rd PBFVC
16:00 | R -1 wamhE PHBFVC
1000 || mBHIX3d |(—|5 AR R
1540 | s LM |4 &8 BRI
8t | 6/28 1540 |7 Z=3rd e R]g %I%
10:00 | & REFE =||z =E3rd =58
12:10 | o i3 =12 maHE 23k
1540 |1o] 1[4 = B\ PRI
7/5 | 1000 |+ 1] —-|4 AR R B
7/6 16115 [ 5| mDmEBHIR3d -3 RrE #RC
o 7/12 | 1830 |e LREME -2 =E3rd PHBFVA
7/5 1540 |7 BE3rd - |12 mamE BT
7/12 | 1830 |=s RESRE - BIR PHBFVB
T7/5 12110 | ¢ is3 —|10 i 23k
9/6 | 10000 |1 RE -3 ZERH ABEEM
9/7 | 1830 |+ b1 =||z =E3rd fRIA
- 9/7 930 |5| mBEHIK3d |- |12 namaE RIDA
9/6 | 1400 |s LM =/ BR 2iRBIE
9/7 | 1000 |7 \E3rd —[19 {114 B2
9/6 | 15640 |s RESE == = E32ti]
16:00 | ¢ =m3rd -2 P PEFVD
1330 | = ®/E -2 maBaE HABRIS
18| 913 930 |4 ] = BE HABRIS
1330 5| mBE®HIRSd |- |10 N #F1C
1240 | e SEWE R = B3k
1840 |7 BE3rd -8 RESE BT




